Opérations avec deux fractions (A)

Nom: Date: Note:

Calculez chaque résultat.

12+3— + = =
7 14 N -
Denominator Solve Simplify
2 1+1— + = =
6 2 B B
34'2— X = =
9 3 N B
42 5 B 3
3 12 B B
51;§— X — —_—
3°9 N B
61><7— =
7713 B
711 1 B 3
18 9 N B
. 1 1 B 3
2 6 N B
91 19 o B 3
5°20 - B
101+i— + = = —
2 14 B B
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Opérations avec deux fractions (A) Réponses

Nom: Date: Note:

Calculez chaque résultat.

2,3 _ 4,3 7 _ 1
7 14 14 14 14 2
, 1+1_ 1+3 42
6 2 6 6 6 3
, 3.2 _ 4.3 _12_ 2
9°"3 972 18 3
L2 5 _8_ 5 _3_1
312 12 12 0 12 4
L8 _ 1.9 _9_3
3°'9 378 24 8
61)(7_ 7 1
7713 91 13
o1 _u 2 _ 9 1
18 9 18 18 18 2
811_31_2_1
2 6 6 6 6 3
o, 1.1 _ 1,20 20 _ 4
5°20 5719 95 19
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